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o %E kA A _ LI E B _ kR i A=A [ 1 E/ﬁ@@gﬁtt
ERE mpy | [ et | e | o | osee [ e [ [ ] ® | W-®)
W | 1,894 129 35 164 127 34 161 98.4| 97.1| 98.2 98.9 -0.7
) E 2 253 119 40 159 113 45 158 95.0| 112.5| 99.4 99. 4 0.0
T E S 979 408 362 770 409 361 770 | 100.2| 99.7| 100.0 99. 6 0.4
4] E S 216 62 45 107 64 43 107 | 103.2| 95.6| 100.0 99.0 1.0
K PE 41 21 9 30 21 9 30 | 100.0| 100.0[ 100.0]  100.0 0.0
% FE 3 2 0 2 2 0 2| 100.0 -| 100.0 - -
F E 7 0 0 0 0 0 0 - - - 100. 0 -
1% b 21 2 0 2 2 0 2| 100.0 -| 100.0 - -
& Hi: 2 0 1 1 1 0 1 - 0.0[ 100.0 - -
D 108 2 1 3 2 1 3| 100.0[ 100.0| 100.0|  100.0 0.0
& 298 111 28 139 111 27 138 | 100.0[ 96.4| 99.3 99. 2 0.1
&t (a) 3, 822 856 521 | 1,377 852 520 | 1,372 99.5| 99.8| 99.6 99. 4 0.2
WEERIEIEE(b) | 3, 875 874 513 | 1,387 861 518 | 1,379 98.5| 101.0| 99.4
WEAEIRIIEL () - (b) -53 -18 8 -10 -9 2 -7 Lo| -1.2 0.2
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AL ey [ omsn | opak | omes | omsk | | omew | [0 | ® (&)-®)
o | 1,817 71 18 89 69 20 89 97.2| 111.1| 100.0 99.0 1.0
) E S 183 76 17 93 77 16 93 | 101.3| 94.1| 100.0 99.0 1.0
T E 2 99 54 23 77 54 23 77 | 100.0| 100.0[ 100.0]  100.0 0.0
4] E 2 514 158 30 188 159 28 187 | 100.6| 93.3| 99.5 99.1 0.4
K PE 5 3 0 3 2 1 3 66. 7 -| 100.0]  100.0 0.0
% FE 68 8 4 12 8 4 12| 100.0 100.0| 100.0]  100.0 0.0
& E 17 1 0 1 1 0 1| 100.0 -| 100.0]  100.0 0.0
1% b 14 1 1 2 1 1 2| 100.0[ 100.0| 100.0|  100.0 0.0
& fik: 9 1 0 1 1 0 1| 100.0 -| 100.0]  100.0 0.0
0 158 10 1 11 10 1 11| 100.0[ 100.0| 100.0]  100.0 0.0
& 380 105 18 123 103 19 122 98.1| 105.6| 99.2|  100.0 -0.8
Al (a) 3, 264 488 112 600 485 113 598 99.4 100.9| 99.7 99. 4 0.3
WEERIEIEE ()| 3, 552 528 160 688 529 155 684 | 100.2| 96.9] 99.4
MRS @ -] -288 -40 -48 -88 ~44 -42 -86 | -0.8 4.0 0.3
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L ey [ omsn | opak | omes | omsk | | omew | [0 | ® (&)-®)
o W 3,711 200 53 253 196 54 250 98.0| 101.9| 98.8 98.9 -0.1
) E 2 436 195 57 252 190 61 251 97.4| 107.0| 99.6 99. 2 0.4
T 2| 1,078 462 385 847 463 384 | 847 | 100.2| 99.7| 100.0 99.7 0.3
4] E S 730 220 75 295 223 71 294 | 101.4| 94.7| 99.7 99.1 0.6
K PE 46 24 9 33 23 10 33 95.8| 111.1| 100.0|  100.0 0.0
% FE 71 10 4 14 10 4 14 | 100.0[ 100.0| 100.0]  100.0 0.0
& E 24 1 0 1 1 0 1| 100.0 -| 100.0]  100.0 0.0
1% b 35 3 1 4 3 1 4| 100.0| 100.0| 100.0|  100.0 0.0
& Ak 11 1 1 2 2 0 2| 200.0 0.0 100.0]  100.0 0.0
D 266 12 2 14 12 2 14 | 100.0 100.0| 100.0]  100.0 0.0
& 678 216 46 262 214 46 260 99.1| 100.0| 99.2 99. 6 -0. 4
&3t (a) 7,086 | 1,344 633 | 1,977 | 1,337 633 | 1,970 99.5| 100.0| 99.6 99. 4 0.2
MEERIE )| 7,427 | 1, 402 673 | 2,075 | 1,390 673 | 2,063 99.1| 100.0| 99.4
MRS @ -0 -341 -58 -40 -98 -53 -40 -93 0.4 0.0 0.2




